Stock buyback program Information

Date: 05/12/2022

Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE PINFRA

NAME OF THE COMPANY PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION 05/11/2022

RESOURCES REMAINING

Up to the last Report	4,912,359,459
Currently	4,903,435,209

OPERATION FOR EACH OF THE SERIES

SERIES *

BROKERAGE GBM

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	48,749,834
To the present Report	0	380,123,523	48,785,005

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
67315	BUY	101	\$169.79	\$17,149	EQUITY
67316	BUY	6	\$169.80	\$1,019	EQUITY
67317	BUY	16	\$169.83	\$2,717	EQUITY
67318	BUY	5	\$169.86	\$849	EQUITY
67319	BUY	36	\$169.87	\$6,115	EQUITY
67320	BUY	37	\$169.88	\$6,286	EQUITY
67321	BUY	17	\$169.96	\$2,889	EQUITY
67322	BUY	198	\$170.02	\$33,664	EQUITY
67323	BUY	151	\$170.05	\$25,678	EQUITY
67324	BUY	75	\$170.07	\$12,755	EQUITY
67325	BUY	117	\$170.12	\$19,904	EQUITY
67326	BUY	224	\$170.17	\$38,118	EQUITY
67327	BUY	100	\$170.23	\$17,023	EQUITY
67328	BUY	98	\$170.24	\$16,684	EQUITY
67329	BUY	109	\$170.27	\$18,559	EQUITY
67330	BUY	114	\$170.29	\$19,413	EQUITY
67331	BUY	498	\$170.30	\$84,809	EQUITY
67332	BUY	273	\$170.31	\$46,495	EQUITY
67333	BUY	191	\$170.32	\$32,531	EQUITY
67334	BUY	158	\$170.33	\$26,912	EQUITY
67335	BUY	1,162	\$170.34	\$197,935	EQUITY

67336	BUY	491	\$170.35	\$83,642	EQUITY
67337	BUY	863	\$170.36	\$147,021	EQUITY
67338	BUY	100	\$170.37	\$17,037	EQUITY
67339	BUY	20	\$170.38	\$3,408	EQUITY
67340	BUY	171	\$170.40	\$29,138	EQUITY
67341	BUY	155	\$170.41	\$26,414	EQUITY
67342	BUY	55	\$170.42	\$9,373	EQUITY
67343	BUY	112	\$170.43	\$19,088	EQUITY
67344	BUY	227	\$170.44	\$38,690	EQUITY
67345	BUY	311	\$170.45	\$53,010	EQUITY
67346	BUY	5	\$170.46	\$852	EQUITY
67347	BUY	361	\$170.47	\$61,540	EQUITY
67348	BUY	359	\$170.48	\$61,202	EQUITY
67349	BUY	155	\$170.49	\$26,426	EQUITY
67350	BUY	163	\$170.50	\$27,792	EQUITY
67351	BUY	311	\$170.51	\$53,029	EQUITY
67352	BUY	120	\$170.52	\$20,462	EQUITY
	BUY	87		\$20,462 \$14,836	EQUITY
67353			\$170.53	. ,	
67354	BUY	618	\$170.54	\$105,394	EQUITY
67355	BUY	101	\$170.58	\$17,229	EQUITY
67356	BUY	210	\$170.59	\$35,824	EQUITY
67357	BUY	427	\$170.60	\$72,846	EQUITY
67358	BUY	355	\$170.63	\$60,574	EQUITY
67359	BUY	180	\$170.64	\$30,715	EQUITY
67360	BUY	10	\$170.65	\$1,707	EQUITY
67361	BUY	254	\$170.66	\$43,348	EQUITY
67362	BUY	278	\$170.67	\$47,446	EQUITY
67363	BUY	103	\$170.68	\$17,580	EQUITY
67364	BUY	346	\$170.69	\$59,059	EQUITY
67365	BUY	414	\$170.70	\$70,670	EQUITY
67366	BUY	428	\$170.71	\$73,064	EQUITY
67367	BUY	397	\$170.72	\$67,776	EQUITY
67368	BUY	197	\$170.73	\$33,634	EQUITY
67369	BUY	406	\$170.74	\$69,320	EQUITY
67370	BUY	876	\$170.76	\$149,586	EQUITY
67371	BUY	312	\$170.77	\$53,280	EQUITY
67372	BUY	102	\$170.78	\$17,420	EQUITY
67373	BUY	963	\$170.79	\$164,471	EQUITY
67374	BUY	517	\$170.80	\$88,304	EQUITY
67375	BUY	524	\$170.81	\$89,504	EQUITY
67376	BUY	529	\$170.82	\$90,364	EQUITY
67377	BUY	128	\$170.83	\$21,866	EQUITY
67378	BUY	225	\$170.84	\$38,439	EQUITY
67379	BUY	185	\$170.85	\$31,607	EQUITY
67380	BUY	89	\$170.87	\$15,207	EQUITY
67381	BUY	573	\$170.88	\$97,914	EQUITY
67382	BUY	351	\$170.89	\$59,982	EQUITY
67383	BUY	247	\$170.90	\$42,212	EQUITY
67384	BUY	181	\$170.91	\$30,935	EQUITY
67385	BUY	150	\$170.92	\$25,638	EQUITY
67386	BUY	156	\$170.93	\$26,665	EQUITY
67387	BUY	206	\$170.94	\$35,214	EQUITY
67388	BUY	394	\$170.95	\$67,354	EQUITY
67389	BUY	324	\$170.96	\$55,391	EQUITY
	131.11	.774	.0170.20	a) (1) (1) (1)	1 1 1 1 1 1 1

67391	BUY	380	\$170.98	\$64,972	EQUITY
67392	BUY	706	\$170.99	\$120,719	EQUITY
67393	BUY	1,330	\$171.00	\$227,430	EQUITY
67394	BUY	289	\$171.01	\$49,422	EQUITY
67395	BUY	136	\$171.02	\$23,259	EQUITY
67396	BUY	116	\$171.03	\$19,839	EQUITY
67397	BUY	906	\$171.04	\$154,962	EQUITY
67398	BUY	203	\$171.05	\$34,723	EQUITY
67399	BUY	137	\$171.06	\$23,435	EQUITY
67400	BUY	166	\$171.07	\$28,398	EQUITY
67401	BUY	20	\$171.08	\$3,422	EQUITY
67402	BUY	35	\$171.09	\$5,988	EQUITY
67403	BUY	172	\$171.10	\$29,429	EQUITY
67404	BUY	101	\$171.11	\$17,282	EQUITY
67405	BUY	391	\$171.12	\$66,908	EQUITY
67406	BUY	247	\$171.13	\$42,269	EQUITY
67407	BUY	110	\$171.14	\$18,825	EQUITY
67408	BUY	45	\$171.15	\$7,702	EQUITY
67409	BUY	406	\$171.16	\$69,491	EQUITY
67410	BUY	150	\$171.17	\$25,676	EQUITY
67411	BUY	196	\$171.18	\$33,551	EQUITY
67412	BUY	69	\$171.19	\$11,812	EQUITY
67413	BUY	40	\$171.20	\$6,848	EQUITY
67414	BUY	562	\$171.21	\$96,220	EQUITY
67415	BUY	74	\$171.22	\$12,670	EQUITY
67416	BUY	210	\$171.23	\$35,958	EQUITY
67417	BUY	159	\$171.24	\$27,227	EQUITY
67418	BUY	190	\$171.25	\$32,538	EQUITY
67419	BUY	50	\$171.26	\$8,563	EQUITY
67420	BUY	50	\$171.27	\$8,564	EQUITY
67421	BUY	85	\$171.28	\$14,559	EQUITY
67422	BUY	609	\$171.29	\$104,316	EQUITY
67423	BUY	665	\$171.30	\$113,915	EQUITY
67424	BUY	67	\$171.33	\$11,479	EQUITY
67425	BUY	130	\$171.35	\$22,276	EQUITY
67426	BUY	132	\$171.36	\$22,620	EQUITY
67427	BUY	59	\$171.37	\$10,111	EQUITY
67428	BUY	209	\$171.38	\$35,818	EQUITY
67429	BUY	91	\$171.39	\$15,596	EQUITY
67430	BUY	231	\$171.40	\$39,593	EQUITY
67431	BUY	11	\$171.42	\$1,886	EQUITY
67432	BUY	30	\$171.43	\$5,143	EQUITY
67433	BUY	95	\$171.54	\$16,296	EQUITY
67434	BUY	171	\$171.55	\$29,335	EQUITY
67435	BUY	137	\$171.56	\$23,504	EQUITY
67436	BUY	131	\$171.58	\$22,477	EQUITY
67437	BUY	116	\$171.59	\$19,904	EQUITY
67438	BUY	75	\$171.61	\$12,871	EQUITY
67439	BUY	95	\$171.67	\$16,309	EQUITY
67440	BUY	109	\$171.81	\$18,727	EQUITY
67441	BUY	105	\$171.83	\$18,042	EQUITY
67442	BUY	4,171	\$172.40	\$719,080	EQUITY

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	49,416,058	2,477,823
To the present Report	0	49,416,058	2,507,823

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
67443	BUY	30,000	\$97.00	\$2,910,000	EQUITY